normalized X?

[ normalized x? probability |

107} 0.06
102k 0.05
E 0.04 Entries
_3 Mean 0.5297
10°F Std Dev 031
E 0.03 e
O e i aiay " ] pa
E 0.02
|
107F 0.01
91me|||||’||| ° N PR FUTE PPN FOPL FUOE PUTE POVSY PP FOOOE PO
§ 1.05F §
15,“3 [P
P Sl Y P B I X S S B JOU L S I O S A
"0 2 4 6 8 10 12 14 16 18 20 "0 010203040506070809 1
X Prob(x?)
mmmmm DQM_mkFit5_TTold-lowpt
s DQM_mkFit_TT_retrain-lowpt
wmm— DQM_mkFit_TT_NEWdefault_specPLess3-lowpt
A 21
5
= 18
=<
Vo1.6f
1.4H
1.2]
-
0.8F
0.6 --etrree e P e roeee
o s 1 1 1 1 1
K : F : ! :
* Y #HHWHH H“i”}“ gt
OdH{ : :#:{
23T -2 -1 0 1 2 3
n
A A E
2 2 18fF-
% < 1.6F-
\Y \Y F
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
° o O
© T
@ @
0.5F
0. . : L s oL~
107 1 10 102 Jo 10 1072

-1
AR(track, jeltS)



	Contents
	Page 1


